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frifera 9 @ form wftfa & sgmen w | 4
gfea e 8 uedt TS @ famn
srfefram, 1996 (fiswEn), s=m= ™ ?
(1) ceftufire sifen afifa
(2) <ardts wiafa
(3) d.%. g afify
(4) <.t v gfufy
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HAT(R) : 9a d faifta =y
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(3) (A)TT (R) I € H&l 8 AT (R)
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To w hom does a Judge of Supreme
%um gj ess his resignation ?
hief Justice of India
(2) President
(3) Law Minister
(4) Prime Minister

Tlu,dppmnum,nt ofa Mll'll\tu incharge ¢
ot Tribal Welfare shall be done by :

(1) Governor of Rajasthan

(2) Governor of Uttar Pradesh

(3) Governor of Assam

(4) Governor of Odisha

On which of the following date the

Rajasthan  High Court’s permanent
bench was established in Jaipur ?

(1) 1™ November. 1956

(2) 8" December, 1976

(3) 26" February. 1958
(4) 8" May. 1950

On which Committee’s reccommendation.,

Panchayats (Extension of the

Scheduled Areas) Act, 1996 (PESA) has

been framed ?

(1) Duleep Singh Bhuria Committee

(2) Daya Choube Committee

(3) P.K. Thungan Committee

(4) G.V.K. Rao Committee

Assertion (A) : Local governments in

India have been

granted a constitutional

status.

It is aimed to ensure the

existence of  elected

local bodies in India.

Choose a correct option —

(1Y (A)istrue but (R) is false. -

(2) (A)is false but (R) is true.

(3) Both (A) and (R) are true and (R)
18 correct explanation of (A).

(4) Both (A) and (R) are true but (R)
is not the correct explanation of
(A).

Reason (R) :
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frifra faget # & fea g fomm fen
2 o5 v § Sishas wrumoraan, fateei
GER IR RID
(1) TH. Shehed
(3) bt 5

(2) et =St
(4) <. firgarht

fr1 9 4 form formes fagm 3 98 ma wem
foran fop s & a1 Sedshfaar &
FRUT I8 B T a8l W arfys w9 @
HEST I e (FraTuRe SHIHHT)
1 fergrgamd femm 2 ¢

(1) Teegifed  (2) e T

(3) feromare (4) T grerdiaTen

HYF (1) : AN TIHIG Hl 9@
|e Fga H Rl B 2 |
YT (1) : Fomt & 3meor & ey |
o Tenst § e f
3] T H Hise 2t & |
Tg! fashed w1 gAmE HifT —

(1) ()T AU (1]) IHE R |

(2) (1) 3T B AT () T & |

(3) (1)@ (11) & & a0 (1) % g (1)
F AN H TS 2 |

(4) ()T (1) & 8 9= (1) % g1 (1)
Hare R ER

TefiRaa Aasda g1t sl Hiel-
SHATTER Saferd Hifvg :

(A) Ffed e =1 o=

(B) & st

(C) Giferaa gu =1 formes

(D) ITHEA  Tifead gaay

(1) (C).(A). (B). (D)

(2) (C), (D). (A).(B)

(3) (B). (D), (A).(C)

(4) (B). (D). (C). (A)

Who among the following scholars has
given view that *democracy in India has
reduced simplyto elections” ?

(1) F.Frenkel

(2) Partha Chatterjee

(3) P. K. Bardhan

(4) V. Gidwani

Who among the following thinker/scholar
has given view that “the longetivity of
India’s democracy had a great deal to do
with its de facto consociational features ?

(1) Alexendrowicz

(2) Kanchan Gupta

(3) Lijphart

(4) Nani Palkhiwala

Statement (I) : Now-a-days. many
women have a greater
understanding  of  the
working of politics.

Statement (I1) : The provision for

reservation for
women has ensured
the presence of a

significant number of
women in local
bodies.
Choose a correct option :
(1) (s true and (1) is talse.
(2) (D) is false and (1) is true.
(3) (D) and (I1) arc true and (1) is an
explanation of (I).
(4) (1) and (1) are true but (1) is not
an explanation ot (1).

Arrange these international events in
chronological order :

(A) Fall of the Berlin wall

(B) Russian Revolution

(C) Disintegration ot the Soviet Union
(D) Soviet Invasion on Afghanistan
() (C).(A).(B). (D)

(2) (C) (D), (A).(B)

(3) (B). (D), (A).(C)

(4) (B), (D). (C).(A)
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(1) 78 S U=d IR 9 Hiferrd e
aqr e i U % A
e frarenes gerd o |

(2) g% mEmIfEdal & s J=ies I o9t |

(3) T 2R < Ere w1 gE e A |

(4) TE U9 IR @ wifawd |
e g U ford B 9

T TS iR w WEH -
grETsTaT e fraa war 7
(1) ferame w=er

(2) S BT S

(N %ﬁmzﬂq (2) Wﬁfﬂ
()Eq;:cﬁmﬁ-a (4) IATESTETER

‘TR o WIS (HITfATTH HTE

HHfew) FTEau

(1) Had 1 T 8 ATATE

(2) W % Raes THiEs TER
R hl gaT 1 ARE

(3) ITHEMREAE W 2001 H a1 dFe
HHaTs

(4) gren aftsg 1 fasr

T TSI IR HT “HATRIA TR

e’

(1) STA-HRIE & Tt e o faeg
o |

(2) 3T & gRI 5 TS & o qhd
! Uehrl & et Ufca 2 |

(3) 3EhI sgufa HeM B8 o foreg o1 |
(4) uferEam & fawg o1 |

10.

1.

14.

Which among the following statements

about the cold war is wrong

(1) It was a competition between the
US and Soviet Union and their
respective allies. '

(2) It was an ideological war between
the superpowers.

(3) It triggered oft an arms race.

(4) The US and USSR were engaged
in direct wars.

Who termed United States of America
as ‘First non-lmperial Super Power’ ?
(1) Leon Panetta

(2) John Foster Dulles

(3) Henry Kissinger

(4) Lawrance H. Summers

Who among the following Presidents of
United States of America warned
American Citizens about the ‘Military-
Industrial Complex™ ?

(1) Harry S. Truman

(2) George Bush

(3) F.D. Roosvelt

(4) Eisenhower

‘Coalition of Willings* is related to :
(1) The freedom of Kuwait from Iraq.
(2) A mission against Iraq to destroy

against the weapons of mass
destruction.,
(3) The military action against

Afganistan after 2001.
(4) The Expansion of Security Council.
“Operation  Enduring Freedom™ of
USA was —
(1) against
Regime.
(2) to prevent development of
Weapons of Mass Destruction
(WMD) by Iraq
(3) against Saddam Hussain, The Iraqi
President.
(4) against Pakistan.

Al-Quida and Taliban
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e ag femm fean fop, wum=ran ‘o<
EER o "I GIHTIaE 2 ?

(1) @ H  (2) Ao foaiq
(3) SISl WESHETR (4) T 3NEEE
Frerifera | & Tea U % Form wemfaa
459, TreprE 61 orsfier angdspha i @@
AT g7 T Wt WS FRT R ?

(1) fomaeh (2) =7 BHWIcs
(3) Hd decE™  (4) B IEEH

‘BT HHCUE’ IEEA! HT g9y
fremifera o @ fopa s/ efta g
qg?

(1) Ffe= ghem
(2) HATehiewh FRfA

(3) TR UG

(4) e

JUfe= g9 & 919 g9 -

(A) @2 | (B) TTTH 2 |
(C) T2 | (D) dfaam 2 |
ag famred w1 g Hifse -

(1) (A).(B), (C)dm (D)
(2) (A).(B)@Tem (C)
(3) (B).(C)@un (D)
(4) (A).(C)aur (D)

ATRAA GFe BRE (ARF) st wifia
fepar -

(1) 1992 (2)
(3) 1996 (4)

" 1967 | 3nfram 1 fmior fopar e e -
(1) Sehtes giNoT gy
(2) 9 =Y g
(3) i = gra

1994
1998

(4) 3 feeel aron gra

"BIH TV 7 NI gEiedye A
sfosars B aiferel’ wmes e %

EH /AT A E ?
(1) Hifaamm=lt (2) 319 qoe
(3) eadsRt (4) ST e

16.

17.

I8.

19.

20.

21.

Who has given the idea that hegemony
is ‘imperialism with good manners’ ?
(1) Immanuel Kant

(2) Walter Lippmann

(3) George Schwarzenberger

(4) L. Oppenheim

Which of the following Secretary
General of United Nations described it
as. Sprawling and Complex
Organisation as  Weird  Picasso
abstraction ?

(1) Trygve Lie

(2) Dag Hammarskjold

(3) Kurt Waldheim

(4) Kofti Annan

The terminology *Copenhagen
Criteria’ is related to which of the
tollowing [nternational/Regional
Organisation ?

(1) European Union

(2) Arctic Council

(3) United Nations

(4) NATO

European Union has common

(A) flag (B) anthem
(C) currency (D) constitution
Choose a correct option :

(1) (A) (B).(C)and (D)

(2) (A). (B)and (C)

(3) (B).(C)and (D)

(4) (A). (C)and (D)

The ASEAN Regional Forum (ARF)
was established in -

(1) 1992 (2)
(3) 1996 (4)

1994
1998

The ASEAN was created in 1967 through
(1) Bangkok Declaration

(2) Japan Declaration

(3) Paris Declaration

(4) New Delhi Declaration

Who is author of the book ‘From

Chanakya to Modi Evolution of

India’s Foreign Policy’ ?

(1) Kanti Bajpai  (2) Aparna Pande

(3) Rajeev Sikari (4) Zoya Hasan
o
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60 INT T ¢ @ % uvEwd, faesd o
fufdry % e 1 IRUNEG AR 5
Trepen-ad, g: fopet ad wenn e ?

(1) 2005 (2) 20006
(3) 2007 (4) 2008

g R FHE S

(TirehE M wireRtT) § weRE

eifra T PR A HUA TR & 7

(A) TEEH! TITYAT 2003 H &3 |

(B) 3@ TeHifaes uftyg & RN
aftee wfiet 2 |

(C) sTeh! it uftyg <Al Headd
YA & TUTHAT g bl It 2 |

TEl IR - |

(1) (A)TE(B)

(3) (A)TE(O)

(2) (B)WE (C)
(4) (A).(B)@ (C)

I ¥ ST HRAAYH B & T
37 TFeE 3Th YRR e W fh
o 1 gearar feu 2

(1) 2005 2)
(3) 2007 (4)

fyerifea gt o & feem, g H fogw
iy ¥ gl o g Far 7 “Tifdag sa @
e 1 wfass g W R’ ?

(1) SEefia fag (2) ©l. 36d IRt
(3) HY. TR (4) .TH. Wi

freifepa & @ @ W1 W WHET-T
HIANRIA HT A T 8 ?

(1) WRd (2) ==

(3) oTEvS (4) Torraam

20006
2008

‘TTEETE’ Sa are foree 8 -
(1) Feidfs (2) Tz
3) s @) FEEH

I~
1

24.

26.

27

After being closed for sixty years, the
Nathu La pass. a traditional trading post
between Tibet and Sikkim. was
reopened in which year ?
(1) 2005 (2)
(3) 2007 (4)

2006
2008

Which of the tollowing statements are

correct  in reference to  ‘Nuclear

Command Authority” of India ?

(A) 1t was established in year 2003.

(B) It consists of the Political Council
and the Executive Council.

(C) lts Exccutive Council is chaired by
Prime Minister of India.

Correct Answer is

(1) (A)and(B)

(2) (B)and (C)

(3) (A)and (C)

(4) (A).(B)and (C)

In which year India signed the
“International  Convention for the

Suppression of Acts of Nuclear
Terrorism’™ !

(1) 2005 (2) 20006

(3) 2007 (4) 2008

Who among the following scholars has
stated that “the future of India will
undoubtedly be decided on the sea™, in
reference to the Foreign Policy of India ?
(1) Jasjit Singh

(2) C.Uday Bhaskar

(3) C.Raja Mohan

(4) K.M. Panikkar

Which of the following country is
not a member of Mekong-Ganga
Co-operation ?
(1) India

(3) Thailand

(2) China
(4) Vietnam

The Thinker who classified the traditional
political theory as *Trans-empirical” :
(1) Kirk Pattrick  (2) Robert Dahl
(3) David Easton (4) Maclver
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Tt feren fargia o WonTd uities 6t 5
ffeaa foreryand gt & -
(A) A T

(B) TrITeh SERm
(C) hTEft HeTT g
(D) I88 WAl W &

& forehed =1 gATE HIRT -
(1) (A).(B)TT (C)

(2) (A).(B)adT (D)

(3) (A),(C) a1 (D)

(4) (A).(B).(C)aur (D)

friferd faamen! § @ i 91, WINTS e9iF
q grafrg B, grevere & 7€ 7

(1) fRaea =i

(2) fo=r

(3) dishish

(4) gefom e

frifera & & fomment 1 %9 @1 3w
‘Torifas fagia & yaa’ & fem W
THRATE ?

(1) 3TCHS el O e &t

(2) 2fie Fea 1@ 3evhs Hiel

(3) forn wia w it duete

(4) 3uTE afel ua fort T

“... sfoe@ w1 I3 9@ AEE W &
aTiten IafoehTe o1 = fomg & aut ufvedl
IER Sehad 1 GIEITHeheRtol Td HiHE
HTHIT <h! TATIHT 39h1 AfH €I B |” I8
wo fpaam 2 7

() WEaH  (2) e g™

(3) WwIfeE pA™l (4) UATes T

28.

29.

The traditional perspective of political
theory has certain distinct
characteristics :

(A) Normative element

(B) Philosophical orientation

(C) Legal Institutional Bias

(D) Emphasis on large questions
Choose a correct option :

(1) (A).(B)and (C)

(2) (A). (B)and (D)

(3) (A). (C)and (D)

(4) (A).(B).(C)and (D)

Who among the following thinkers has
associated with linguistic Philosophy,
not with the Contexulism ?

(1) Quentin Skinner

(2) Winch

(3) Pocock

(4) Ludwig Wittgenstien

Which of the following pair of thinkers
denies the idea of *Decline of Political
theory’ ?

(1) Alfred Cobban and Robert Dahl
(2) David Easton and Alfred Cobban
(3) Leo Strauss and Peter Laslett

(4) Isaiah Berlin and Leo Strauss

*... the end of history as such : that is,
the end point of mankind’s ideological
evolution and univeralization of
western liberal democracy as a tfinal
form ot human government.”

Who made this statement ?

(1) Isaiah Berlin

(2) George Bush

(3) Francis Fukuyama

(4) Ronald Reagan



(]
h

TR o % fase’ T & Ted | I8

ETARCIGIR-A T

U (I): Fo e ueHifa fome
AR dR | wlied

SNt Hi yreerae foehfba
FHH H IR B TR |
HUF (1) ; amtes  =wensi H
Terferes TeTaAl bl Sifeerar
IS AT R |
TE faehed o1 FATE HINT -

() (HFFBR (1) e |
) (hfrEmdw () aag |
(3) (1)7 (1) Y T |
(4) (1)@ (1) f frea &

T ! AT vfRd-oqae & &9 o
ferg Sy oft 7
(1) HATTTETSHT
(3) oATEh!

(2) AframrEe
(4) =

freifena faamenl 4 @ fopw formmss 3 T=a
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(2) T s e

(3) ek GRS DTS

(4) Ueh AT U&

32

34.

w
n

With regard to ‘Science’ element of

political science, it’s said that —

Statement (1) : Political science has
tailed by and large, to
evolve a  generally
accepted vocabulary of
concepts.

Statement (IT) : The complexity of
political phenomena
stands in the way of
scientific
explanation.

Choose a correct option :

(1) (1) is true and (1) 1s false.

(2) (1) is false and (II) is true.

(3) Both (I) and (1) are true.

(4) Both (I) and (II) are false.

Who interpreted the state as power
system
(1) Oppenheimer
(3) Laski

(2) Machiavelli
(4) Grotius

Who among the following thinkers
portrayed the state as an ethical ideal
and the highest expression of human
freedom ?

(1) John Locke

(2) Herbert Spenser

(3) Freidrich Hegel

(4) Jeremy Bentham

In the context of the ‘functions of state’,
the view of ‘individualists’ is
influenced by which scientitic idea ?
(1) Human evolution theory

(2) Survival of the fittest

(3) Law of motion

(4) Law of gravitation

According to the socialist theory of the
functions of state — State is —

(1) A Necessary Evil

(2) An Ethical Ideal

(3) A Positive Good

(4) A Spiritual Aspect

04



39.

40.

41.

04

“S8 g g9 e hl wE, W aunties
YT § G ST &, 99 & &9 99 4 ug S
& 1" HEIaT & ey W g8 U R -
(1) wR=hY 1 (2) feesdt st
(3) ofiehieh T (4) T =

frifera § & fpa fagm/femes 3
feueors ey & ‘gEwts
Tt 3 70 w9 @ wE R 7

(1) S=TREA Sherfe

(2) o SRR

(3) few

(4) BN

fr=ifera # @ form fagm 3 s1oh s
Ffa ‘e’ 7, Tl & gaq’ 1
SeoiE fFar g 7

(1) .4 g (2) TEA BISR
(3) dlex dTEle  (4) SR

fauRes % 3= @l % @ wgg Wt
TETH :

(1) @1 gy, dHe, gfafify e

(2) TS 9T, AT |HT, 9T9e G

(3) Tsa g, die, wfafafy g

(4) S g, T g1, gfaffy ge

gy e % =i &1 e
TaranfehT gRT 1 ST ew B -

(1) St

(2) W

(3) Feagsetvs

(4) Beg (freweve)

40.

41.

‘The moment one passes from the dry
certainty of the Austinian conception of
legality, all is contusion.” In the context
of sovereignity. this statement belongs
to :

(1) Laski
(3) Leacock

(2) Willoughby
(4) Giddins

Who among the following
thinkers/scholars has called Bicameral
legislature as *device for sounder public
deliberation” ? '

(1) Benjamin Franklin

(2) James Bryce

(3) QGettel

(4) Finer

Which of following scholar, in his short
book ‘Legislatures’, mentioned about
‘decline of the legislature’ ?

(1) K.C. Wheare
(3) Welter Beghott (4) Gladstone

(2) Herman Finer

[dentify the correct group of the upper

houses of legislature.

(1) House of Lords, Senate, House of
Representatives

(2) Rajya Sabha, House of Lords,
House ot Councillors

(3) Rajya Sabha, Senate, House of
Representatives.

(4) House of Lords. Rajya Sabha.
House of representatives.

The country in which the election of
judges of federal courts is done by
legislature is

(1) Germany

(2) France

(3) Switzerland

(4) Holland (Netherland)
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Match List=1 with List-II and select the

correct answer using the codes given
below the lists :

List-1 List-11
(Thinkers) (Terminology
related to
Democracy)
(A) Simone (i) Communicative
Chambers Democracy
(B) Iris Marion (ii) Reasonable
Young Democracy
(C) John (iii) Deliberative
Dryzek Democracy
(D) Philip (iv) Contestatory
Pettit Democracy
Code :
(A) (B) (C) (D)
(1) (1) (i) (i) (iv)
(2) (1) () () (1v)
(3) (i) (v) (i) (D)
(4) (i) (i) (i) (v)

“Democracy promotes a better and
higher form of national character than
any other policy whatsoever.” Whose
statement is this ?

(1) J.S. Mill
(3) Laski

(2) Bryce
(4) Maclver

The correct group of characteristics of a

Federal Government System is :

(1) Multi Government system, written
gonstitution, independent judiciary.

(2) Single Government  system,
separation of power, powerful
executive

(3) Plural Executive. powerful Head

of the State, unwritten constitution

(4) Dual Executive, simple process of
constitutional amendment,
controlled judiciary.
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‘Laakso and Index™ is
related to —

(1) Political Parties

(2) Pressure Groups

(3) Corruption

Taagepera

citizens

(4) Satistaction level of
towards Government.

Which of the following scholar

considers  political parties  as

‘Unplanned Institutions of organised
partnership’ 2

(1) Philip Selznick

{2) A.N. Holcombe

(3) Charles Beard

(4) Semuel J. Eldersveld

The model of political parties given by
Lipset and Rokkan is based on, origin
of political parties of which region ?
(1) Western Europe

(2) South Asia

(3) East Africa

(4) South America

According to Duverger’s classification
of organisation within the political
parties the ‘Storm Troopers’ and ‘Red
Guards’ of Hitler and Mao respectively
come under which category ?

(1) Militia (2) Caucus
(3) Cell (4) Branch
The thinker who said. Pressure groups

are “un-ofticial government™ :
(1) Finer and Blondel
(2) Thorstein  Sellin
Lambert

Almond and Powell
Watson and Bryce

&  Richard

(3)
(4)

The terminology ‘Noble lie’ related to
which ot the following thinker ?

(I) Plato (2) Aristotle

(3) Hegel (4) T.H. Green
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The name given by Aristotle to ‘State
as an association’, is
(1) State

(3) Politics

(2) Koinonia

(4) Chelies

According to Kautilya,
‘DRONAMUKH" is -

(1) Headquarters of 100 villages

(2) Headquarters ot 400 v l“d‘_

(3) An administrative post

(4) A military post

function of
according  to

What is the
‘SITADHYAKSHA”
Kautilya ?

(1) Incharge of Agricultural activities
(2) Incharge of Tax related activities
(3) Incharge of Cloth Production

(4) Incharge of Forest Department

Who among the following has
expressed that Machiavelli, can only be
characterized as ‘a teacher of evil™ ?
(1) R.N. Berki

(2) George Sabine

(3) Herold Laski

(4) Leo Strauss

Read  careftully these  sentences,

according to the views of Hobbes :

. State is an artifical institution.

II. State is Natural.

1. It’s Philosophy is influenced by
Physics.

IV. Things only attract Human being
not distract.

Correct statements arc —

() LIV (2)

(3) LI (4)

11, 111
I 1V

Which of the following thinkers has
argued that John Locke advocated
“dictatorship of the bourgeoisie’ ?
(1) Hannah Arendt

(2) Fredric Jameson

(3) Bhikhu Parekh

(4) C.B. MacPherson

04
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Which of the following authors has
described Rousseau’s thinking as *an
attempt to describe Capitalism  and
Capitalist Society” ?

(1) Quentin Skinner

(2) Roza Luxemburg

(3) Lucio Colletti

(4) Karl Kautsky

Who among the following had criticised
Natural Rights and called them as
*Anarchical fallacies™ ?

(1) Hobbes (2) Bentham

(3) Karl Marx (4) Machiavelli

Which of the following book is written
by J1.S. Mill ?

(1) What is Liberty

(2) Principles of Political Economy
(3) The Liberty of Women

(4) Utilatarian Society

Who among the following claimed that
“Karl Marx’s scientific socialism was
wrong not only about society. but also
about science™ ?

(1) David Easton

(2) Karl Popper

(3) lsatah Berlin

(4) Jurgen Habermass

Who among the following leaders of

India was a member of *Second
International” (Organisation of

Socialist and Labour Parties) ?
(1) Dadabhai Naoroji

(2) Jawaharlal Nehru

(3) Gopal Krishna Gokhale
(4) M.N. Roy

Who is the author of *The Life Divine™ ?
(1y M.K. Gandhi

(2) Jawaharlal Nehru

(3) Srt Aurobindo

(4) R.M. Lohia
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Which of the following book of Plato

has been translated by Mahatma
Gandhi into Gujarati
(1) Crito (2) Republic

(3) Apology (4) Charmides

Nehru accepted that he was highly

influenced by the following persons.

Find the correct group :

(1) Motilal Nehru, Laski, Marx

(2) Motilal Nehru,
Rabindranath Tagore

(3) Gandhi, Gokhale, Aurobindo

(4) Laski, Gokhale. Gandhi

Gandhi.

In his book ‘Annihilation of Caste’,
Ambedkar wrote that end of
untouchability is possible only by :

[.  inter caste marriages

II. inter caste dining (cating together)
[I1. common education system

[V. participation in government
Correct options are :
(H L1V

(3) 1,1V

(2) LI
4) LII

Who advocated the theory ot Four
Pillar State ?

(1) Jawaharlal Nehru

(2) Motilal Nehru

(3) J.P. Narayan

(4) R. M. Lohia

‘KHAM?" coalition is related to politics
of which of the following Indian state
(1) Punjab (2) Gujarat

(3) Haryana (4) Rajasthan

‘Garibi Hatao® was the slogan of which
Lok Sabha election in India ?
(1y 1977 (2) 1971
(3) 1980 (4) 1957

04



69.

70.

71.

04

gfera Serd 1idier ol WY g3 o -

(1) smEs (2) HEWIS
(3) Bt (4) 3T
gEl-1 & gEfi-1 % =iy gifea it
aun g % e fu e et % wm
U T HE I AT :
- | get-11
(UsHifdh ger) (19T 6 ad)
(A) Eiumeh (i) 1985
(B) uasudiuns (i) 1982
(C) derp e (i) 1949
(D) smmuigiyg  (iv) 1972
%< :
(A)y (B) (C) (D)
(1) () (i) (i) (iv)
(2) (i) (1) (iv) (iii)
(3) (1) (iv) (i) (i)
) (iv) (i) @) i)
-1 3 faw e whrg Jarsdt @ G-
4 fou v 3795 Teifaes gl @ firemd qen
=i < = feu e el 6t gerEar @ uE
I 1 AT HINT -
- | ESisdll
(A) Tgu. gm (i) 9rd s9 9"
(B) wa.dt. g (i) wdw gl
(C) " marr (i) g g
| ki
(D) e Hgar (V) wrffre wred
3T 3
% :
(A) (B) (C) (D)
() () (i) Gii) (iv)
(2) Gv) (i) (i) (i)
(3) (iv) (i) (i) (i)
(4) (iv) () (1) (1)

15

69.

70.

74

The Dalit-Panthers movement started
mn:

(1) Jharkhand

(2) Maharashtra

(3) Chhattisgarh

(4) Andhra Pradesh

Match List-1 with List-Il and select the

correct answer using the codes given
below the lists : '
List-1 List—II
(Political Parties) (Year of
Establishment)
(A) DMK (1) 1985
(B) AIADMK (ii) 1982
(C) Telugu Desam (iii) 1949
(D) Asom  Gana (iv) 1972
Parishad
Code :
(A) (B) (C) (D)
() (1) (i) (iii) (iv)
(2) (1) (1) (iv) (iii)
(3) (i) (iv) (i) (i)
(4) (iv) (i) (i) (i)

Match the famous leaders given in List-I
with their political parties given in
List-Il and select the correct answer by
using the codes given below the lists :

List-1 List-11
(A) S.A.Dange (i) Bhartiya Jan
Sangh
(B) S.P. (ii)  Swatantra
Mukherjee Party
(C) Minoo (ii1) Praja
Masani Socialist
Party
(D) Asoka (iv) Communist
Melhta Party of
India
Code :
(A (B) (C) (D)
() )y () (i) (iv)
(2) (v) (i) (i) (iii)
(3) Gv) (i) () (i)
(4) (iv) (i) (i) (i)
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First time ‘Samyukta Vidhayak Dal’
coalition government was formed in
which of the following Indian state ?

(1) Bihar

(2) Tamilnadu

(3) Andhra Pradesh

(4) Uttar Pradesh

Which of these statements is incorrect ?
(1) The Chipko movement was a
movement against alcoholism.

(2) The relationship between popular
movements and political parties is
weak.

(3) New social movements
people aware of their rights.

(4) Popular movement focus on mass -
actions outside the electoral arena.

make

Which of the following Scholar has
given the idea about India that “a
Constitution may indicate the direction
in which we are to move, but the social
structure will decide how far we able to
move and at what pace™ ?

(1) V.A. Pai Panandikar

(2) Andre Beteille

(3) Ashish Nandy

(4) Christophe Jaftferlot

The origin of the movement for Right to
Information (RTI) is traced to —

(1) Madhya Pradesh

(2) Rajasthan

(3) Uttar Pradesh

(4) Delhi

UNM.O.G.R.Pis:

(1) Environment Protection programme
of United Nations

Nuclear arms control programme
of United Nations.

(3) Commission related to Indo-Pak
relations formed by United
Nations.

(4) A programme ot World Bank
04



L

78.

7,

80.

81.

04

TRA-SReATeST % He g€ iy €iar aasia
2015 9Ra R YoM 5T 31 ® wHeea
| Haiftra st 1 ol wgE 2 -

(1) 3759, A0TevE, Juerd

(2) 3, F=eE, BT

(3) HUTErE, ARTAYE, THSTH

(4) Hurer™, Brga, ammeivg

UG % Hed H Hed ug<e oW
(M.F.Ns.) &1 98l @qg vgarHg —
(R 2018 75)

(1) SACTCY, HIeere, 9uTel

(2) YT, RIHR, HTeTere

(3) STATGT, HITTETE, Igh

(4) 9T, b, AL

=1 e i s g afeu

I. SIhoiTH U Z3-SiawH 2 |

1. u% ke e S a RS |
[1l. | | SeheT 9T <19 &1 Heall & |
(1) 1984 11, [ 7Ted

(2) L 114&E 9 1 Tera

(3) =gl T

(4) 1 1L 11 1 8 ud

fora femien =1, Wia = sE % off far
1 @fy, wfa Hi w1 @ TH G H
ST HHE! H 37858y, IX gEen fehy
T, 7

(1) 31 e, 1950 (2) 63, 1949
(3) 8 3FA, 1949 (4) 8T, 1949

T T &S — 2008 U 1 FATARATE
foreht srmmm, dggm w9 @ fr o A
fopam 2

(1) 9Rd-<H

(2) URA-HIF T IR

(3) YRA-&F

(4) YRA-HTeeE

17

717.

78.

79.

80.

81.

In the Land Border Agreement 2015
between India and Bangladesh, the
correct group of Indian State related to
the enclave given by India is —

(1) Assam, Nagaland. Meghalaya

(2) Assam, Meghalaya, Tripura

(3) Meghalaya, Nagaland, Mizoram
(4) Meghalaya, Tripura. Nagaland

Identity the correct group of the Most
Favoured Nations (M.F.Ns.) of India
(till September 2018).

(1) Bangladesh. Maldives, Nepal

(2) Nepal. Myanmar, Maldives

(3) Bangladesh, Maldives, Ukraine
(4) Nepal, Ukraine, Maldives

Read the following statements caretully :

. Doklam is a tri-junction.

II.  This dispute is primarily between
China and Bhutan.

Ifl. At present Doklam is occupied by

China.

I is correct, 1l and III are incorrect.

[ and 11 are correct. 11 is incorrect.

Il is correct, [ and Il are incorrect.

I, Il and I1I are correct.

(h
(2)
(3)
(4)

On which date. India and Bhutan signed
a Treaty of Friendship calling for peace
and non-interference in each other's
internal affairs ?

(1y 31" July, 1950

(2) 6™ June, 1949

(3) 8™ August, 1949

(4) 8" November. 1949

‘HAND IN HAND® — 2008" Army
counter terrorism exercise jointly
conducted by which countries ?

(1) India-China

(2) India-Unites States ot America
(3) India-Russia

(4) India-Maldives
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In a study of elections, voters
preferences are linked with  their
economic status and a kind of pattern is

revealed. It refers to a particular
characteristics of behaviouralism and
that 1s

(1) Technique
(2) Systematization
(3) Pure science
(4) Regularities

[dentity the correct match related to the
meaning of Behaviouralism :

(1) New revolution in — Robert Dahl
Political Science

(2) Research must be — David
systematic Truman

(3) Opposing the — John Rawls
traditionalism

(4) Emphasis on - Leo Strauss
‘Emperical
" method’

Which of the following is the

‘Regulatory Mechanism’ to deal with
the problem ot overload of demands in
system’s approach of David Easton ?
(1) Administrative Mechanism

(2) Economic Mechanism

(3) Cultural Mechanism

(4) Geographical Mechanism

Political systems have some common
properties. These are listed below :
(A) They all have a structure.
(B) They perform same tunction.
(C) These structures perform  more
than one function.
(D) All systems have modern and
primitive elements.
Choose correct option in the light of
Almond’s Structural-functional approach -
(1) All are accepted.
(2) (A)and (D) are accepted.
(3) (A).(C)and (D) are accepted.
(4) (A). (B) and (D) are accepted.
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Which ot the following pair is not
correct in reference to concepts related
to political development ?

(Scholars) (Concepts)
(1) Samuel - Gap

Huntigton Hypothesis
(2) S.N. — Political

Eisenstadt Breakdown

Problem of
Definational

Priorities

(3) Luician Pye —

(4) Fred Riggs — Development

Trap

Which of the following pair is not
correct, in reference to ‘Political
culture’. Concept of Sidney Verba and
Gabriel A. Almond ?

(1) ltaly - An Alienated
Political Culture
(2) Germany - Alienated and
Aspirational
Political Culture
(3) United — Participant  Civic
States  of Culture
America
(4) Great - Deferential
Britain Political Culture

Which of the following Scholar called.
United States of America’s federal
system as *Co-operative federism” ?

(2) Daniel Elazar
(4) Herman Finer

(1) Morris Jones

(3) Oppenheimer

Which of the following thinker calls
Mutual Nuclear Deterrence as ‘Unit
Veto System” ?

(1) Robert Gilpin

(2) Herold Nicolson

(3)
(4)

Morton Kaplan
Kenneth Waltz
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The basic assumptions of the “realistic

theory” of international politics are :

[.  Empirical

[I. The study of hidden interests of
security and power tactors.

[Il. Special emphasis on the study of
history.

V. National interest is supreme.

Choose the correct options :

() LIL1 (2) LILIV

(3) HL IV (4) I 11

The thinker who gave the ‘Devil

Theory’ in the economic theory of

Imperialism :

(1) Palmer

(2) Margenthou
(3) Parker T. Moon
(4) Charles A. Beard

Which of the following sequence is
correct with regards to teaching ?

(1) Memorising - understanding -
reflective thinking
Understanding -
retlective thinking
Reflective thinking — memorising —
understanding

All of them

memorising  —

(4)

What are the characteristics of a good
teachers ?

(1) Presage factor

(2) Presage factor and process factor

(3) Process tactor and product tactor
(4) Presage. process and  product

factor

Which of the following statement is not
correct with respect to teaching ?

(1) Itis asocial phenomena.

(2) Itisan objective based activity.
(3) Itisa psychological phenomena.
(4) Itis a tripolar process.

04



96.

97.

98.

99,

04

Treror arftrm wfsman o A @ i g
fag g g
(1) Tiems
(3) ®F

(2) fareror

(4) U=t
“Treror 4 1 1 @ forgss 3w @ siftrm

F oft ITW AT TR, YETHS T -

s A ufaHisTawdt @ ?
(1) = (2) @t
(3) wfamm (4) STST SERTITAT

“srdl 7 Afoeh TR w Hen w1 g

YR V&0 7 |7 98 "a = A @ few

[EAGC o R

(1) amfsres tftem fagE

(2) TRy frgma

(3) i TSt =51 A e =1 faga

(4) aT Fgwt w1 Haw e w50
fagma

% ITER “Hferep forepra @ aread
wedl 39 & gy fafi= fraei gt =
ToTd B4 o o | Fre <Y engar & afeds
dEaR |
Tret T | g 9 sl
(1) &0H (2) S

(3) 3= (4) s=gU

R & sgEr Sfiv=ies @i &
37T B

(1) 1199 ¥ SuEhreen

(2) 12 99 & IR

(3) 13 9% ¥ TEhEE

(4) 14 99 § FIEHTTET

21

2
h

96.

97.

98.

99,

Which of the following is the central
point of teaching learning process ?

(1) Teacher
(3) Student

(2) Teaching

(4) Curriculum

Use of which of the following in
fultills all the
objectives i.e. cognitive, affective and
psychomotor ?
(1) Radio
(3) Models

teaching learning

(2) Line drawing

(4) Language lab

~Child learn moral behaviour through
observation.” This opinion is of which
of the following theories ?

(1)
(2)
(3)

Social learning theory
Psychoanalytic theory

Jean Piaget’s Theory of Moral
Developement

(4) Lawrence-Kohlberg's Theory of
Moral Development

According  to “Moral
development refers to changes in the
capacity to reason about the rightness
or wrongness of various actions that
occurs with age™.

Fill the blank space with correct name :
(1) Baron (2) Zanden

(3) Erikson (4) Bandura

According to Piaget the stage of formal
operation 18
(1)
(2)
(3)
(4)

Il years to adulthood
12 years to adulthood
13 years to adulthood

14 years to adulthood
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Which of the following plays important
role in the improvement of mental
health of an adolescent ?

(1
(2)
(3)
(4)

Teacher
Curriculum
School discipline

All of them

Which of the following is preventive
measure  for the treatment and
education of delinquent children ?

(1} Juvenile court

(2)
(3) Affection and love of parents

Rehabilitation method

(4) Psychodynamic method

“In adolescents aggression, stress and
storm situation or sociability basically
depend on his cultural habits and
norms.”

Which of the following
supports this view ?

(1) G.S. Hall’s Theory

(2) Bandura’s Theory

theories

(3) Erikson’s Theory
(4) Anthropological Theory

. Basically how many types of guidance

has been suggested ?
(1) 3 types (2) 5types
(3) 4types (4) 7 types

“Adjustment is the of a man to
maintain balance between his needs,

wishes and environmental factors
which helps to satisty them.”
Complete the sentence, selecting

correct word given below :
(1) Ability
(3)

(2) Capacity

Patience (4) Compulsion
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. Allen and Ryans have suggested how

many teaching skills ?
(1) 14 (2) 13
(3) 12 (4) 11

A teaching skill is a
(1) Teacher behaviour
(2) Teaching strategy
(3) Teaching model
(4) Teaching method

Which one is not the example of
positive re-enforcement.

(1) Praise (2) Punishment
(3) Appreciation (4) Reward
Propounder of  scientific  inquiry

teaching model is

(1) Jean Piaget

(2) David P. Ausubel
(3) Joseph J. Shoaib
(4) Richard Suchman

Which of the following is the correct

sequence of communication process ?

(1) Sender — message — medium -
receiver

(2) Message — sender — medium —
receiver

(3) Sender — medium - message —
receiver

(4) Medium - message — sender —
receiver

Full name of modem is

(1) Modulator disk

(2) Mediator disk

(3) Modulator demodulator
(4) Medium device

Which ot the following is correct
equivalent of 1 GB (giga byte) £
(1) 21"MB (2) 219KB
(3) 2I1VTB (4) 210 byte

When the electrical power is cut off,
data and programme are lost in

(1) ROM

(2) Hard disk

(3) RAM

(4) Sccondary storage
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Which of the following is known as
output device ?

(1) Joystic -

(2) Monitor

(3) CPU (Central Processing Unit)

(4) Pendrive

In Computer Assisted Instructions,
computer is used

(1) as ateaching aid

(2)
3)
(4)

to replace teacher

to make teaching etfective

as a machine to run program of
instructional material.

In constructivist learning teacher’s role
is like a/an
(1) Friend
(3)

(2) Facilitator
[nstructor (4) Director

Which of the following process
indicates that constructivist learning
situation has been created in the class-
room 7

(1
(2)
(3)
(4)

Interpretation construction
Multiple interpretation
Multiple manitestation.
All of them

Which of the statement is not correct
with respect to school organisation ?
(1) School organisation is an active
and developing unit.

Form of school organisation does
not change with situation and
need.

School organisation is a group of
various men which may be large or
small in size.

School organisation is a means
which helps to achieve general
objectives.

04



118.

119

120.

121.

04

TS Wl wd 3= A
Tererreri o weyy & foe e d @
o Reft Iuge 8 7

(1) e weht

2) Fipw v yemaifies deft al

(3) Tehipe defl

(4) 3T 9 HIE T

T D—————C——

T ITITHHAT W HE S ST 8 7

(1) I8 HEAH & Yo Td SHATTHR alh
¥ g i giifeaa g |

(2) I8 UEJE H SIET S W |
HEES § |

(3) I8 W% wg feenRial § awg-frssar
! TG T 2 |

4) FgHf

= 4 8 swee oelio’ g %
AEH HHE ? |

(1) S99 (2) =FEe mems
(3) fi@TA  (4) THABE T
TR | 3ee Hidg Niarget & €9 d 5

forger fepam e @ 7

(1) fordw @ frm frfiee

(2) "ETR eftwia fm fafiee
(3) SLEER fasm

(4) T & I3 TE

25

118.

119,

120.

121.

Which of the following style of
leadership is appropriate for the head of
the government secondary and senior
secondary school ?

(1)
(2)

Autocratic style

Autocratic style and democratic
style both

Integrated style

(3)
(4)

None of them

Which of the following statement
indicates need and importance of the
time table for the nstitution ?

(1) It ensures an orderly and smooth
functioning of an institution.

(2) It helps maintaining discipline in
the institution. _

(3) It promotes punctuality among
staff and students.

(4) All of these

Who among the following is the writer of
the book — *Emotional Intelligence’ ?

(1) John Mayer

(2) Danial Goleman
(3) Peter Salovey
(4) None of them

Who amongs the following has been
appointed as Internet Service Provider
(ISP) in India ?

(1
(2)

Videsh Sewa Nigam Limited

Mahanagar Telephone Nigam

Limited
Department of Telecommunication

(3)

None of them
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Who has decribed Political Theory as a
‘Critique of Politics™ ?

(1) Dante Germino (2) Herbert Marcuse
(3) Karl Popper  (4) David Easton

Political theory is relevent

. For strict implementation of
political ideals.
1. To understand the  basics

knowledge of political institutions.
L.
V.
Correct option is
() L1
() 1LHL IV

To develop a rational attitude.

To develop moderate in ideas

1. 1L TH
1. 11

(2)
(4)

According to advocates of the theory of
natural rights —

Assertion (A) : Rights arc given to
men by nature.

Reason (R) : These rights cannot be
denied to men in society.

(A) is true but (R) is false.
(A) is false but (R) is true.

Both (A) and (R) are true and (R)
is‘correct explanation of (A).

Both (A) and (R) are true but (R)
is not correct explanation of (A).

()
(2)
(3)

(4)

. Who among the following thinkers said

that “The primary problem is not liberty
but the creation of a legitimate public
order™ ?

(1) Gerhard Lehmbruch

(2) Garbriel Almond

(3) Samuel Huntington

(4) Francis Fukuyama

. Who amongst the following. held that

liberty and equality are not compatible ?
(1Y Acton (2) Laski
(3) Marx (4) Locke

04
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(A) Eric
(B) Amartya Sen
(C) Michael

(D) Jeremy

129.

(D

130.

31,

According to *Feminism’, the fundamental

cause of gender inequality is :

(1) Legal interpretations

(2) Patriarchy

(3) Government processes

(4) Natural differences

Match List-1 with List-11 and select the

correct answer using the codes given

below the lists :

List-1

(Thinkers)

List=11

(View Point)
(Iy  Complex equality
Rakowski
(1)  Equality of
capabilities
Equality of
Resources
Equality of
welfare

(Itl)
Walzer
(IV)
Bentham
Code :
(A)
(1) (b
(2y (1)
(3) (11D
(4) (1V)

(B)
(11)

()
(111)
(h  (1V)
(I (D
(111 (1)

(D)
(1V)
(I11)
(1IV)
(I

Who among the following has given the
idea of *Differentiated Citizenship® ?
Marshall

Iris Marion Young

Alasdair Maclntyre

Amiti Etzioni

(2)
(3)
(4)

What terminology does Will Kymlicka
use to address "Civic Humanism’ ?

(1) Differentiated Citizenship

(2) Multicultured Present

(3) Aristotelian Republicanism

(4) Liberal Citizenship

Who among the following believes that
‘Justice is the first virtue of Social
[nstitutions” ?
(i) Plato

(3) John Rawls

(2) Aristotle
(4) Amartya Sen
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. The

V.

The motivational source behind the
impartial thinking according to Rawls
in the distribution of benefits and
burdens of a society is :

(1) Morality (2) Religion

(3) Beliefs (4) Rationality

indicators of the Human
Development Index of United Nations
are :

I. Rate of economic growth index

II. Life expectancy

11I. Maternal Mortality rate

The amount of debt on country
The correct statements are :

(n L1 2y LIV

(3) 1L M1 (4) LI

. How many members of Constituent

Assembly were actually present on 24
January, 1950 to append their signatures
to the Constitution to finally adopt it ?
(1) 299 (2) 284

(3) 385 (4) 292

. Which of the following woman has

represented in Constituent Assembly of
India, as woman representative from
princely states ?

(1) Ammu Swaminathan

(2) Dakshayani Velayudhan

(3) Annie Mascarene

(4) Durgabai Deshmukh

. In the Preamble of the Constitution of

India. which liberty is NOT mentioned ?
(1) Thought (2) Belief
(3) Morality (4) Worship

. Which of the following is not a correct

aption ?

(1) The Constitution of India
empowers the Parliament to create
new states.

The Governors in the states are
appointed by the President.

(3) The States in India do not initiate

(2)

the constitutional amendment
proposals.
(4) There is unitformity of

representation of the states in the
Council of States.
04
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Which of the following shall have
power to make law under Article 17 of
the Constitution of India, to make
untouchability offence punishable ?

(1) Parliament of India

(2) President of India

(3) Governor of the State

(4) Supreme Court of India

Which of the following
Committee/Commission recommended
to change the title of Part-4 of the
Constitution of India, and rename it as
‘Directive Principles of State Policy
and Action” ?

(h
(2)

Sarkaria Commission

National Commission to review
the working of the Constitution

(3)
(4)

Sawarn Singh Committee

V.8, Malimath Committee

If a state government pursues anti-
secular policies is liable to action under
Art.-356. It was laid by the Supreme
Court in —

(1) State of Rajasthan Vs. Union of

India (1977)

State of Karnataka Vs. Union of
India (1978)

S.R. Bommai Vs. Union of India
(1994)

Dara Singh Vs. Republic of India
(2011)

The residuary power of taxation in
India is vested in -

(1)
(2)
(3)
(4)

Finance Commission
Parliament
Planning Commission

National Development Council
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(1) SSITe-eh T AT

(2) TSR diEfa

(3) Gy giafa

(4) TTE ST

. YIRA % WU & o8¢ 263 % Iqa-l

¥ a1, Tregafa, freritera 4 & fora fea
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(1) TS <ht 3r@vedr & faa |

(2) wiehiga d

(3) Tsg <hY weha = fza |

(4) gasfead
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(1) WA o YYEA
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(4) ufvam e < geanHl
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Which of the following
Committee/Commission recommended
that the ‘Central Reserve Police Force’
should not be deployed without a
state’s consent or request in particular
state ?

(1) Administrative Reforms
Commission

Rajmannar Committec

Santhanam Committec

Shah Commission

(2)
(3)
(4)

. Under the provisions of Article 263 of

the Constitution of India. the President

establishes the Inter-state council, for

the serving of which interest, from the

tollowing ?

(1) In the interest of integrity of the
Nation

) In the public interests

) In the interest of unity of the

Nation '

In the interest of the Union

' s

(
(

(4)

According to the Constitution. the
resignation of President addressed to
the Vice-President shall forthwith be
communicated by him to the :

(1) Prime Minister

(2) Chief Justice of India

(3) Chief Election Commissioner

(4) Speaker of the Lok Sabha

. All kinds of disputes relating to the

Presidential election are decided by —

(1) the Supreme Court

(2) the High Court

(3) Lok Sabha

(4) Committee
Parliament

of  Members of

Who among the following is the
Chancellor (Acharya) of *VISVA-
BHARATI ?
(1) Prime Minister of India
(2) President of India
(3) Governor of West Bengal
(4) Chief Minister of West Bengal
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Frifera § & S 8 Fea Ra TR H

qran Tt ubmuee gifa & 8 2

(A) & Tt gl gegi @ fuen |

(B) faftr 37k sreren @2 sriaftes gean
arereft qeel | fage |

(C) Toceht mmedt @ wwafRe 0@ it
favat @ fuen, feer s
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e srta gran wraht yedl w
I M F WY R A g
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(D) T & 1 fskae S qrer
1w Teiferes gel & fes |

(1 (AW (B)

(2) (A)(B)TE (C)

(3) (B).(C)W (D)

(4) (A),(B).(C)@ (D)

f=ifera & & fopm are A, wra % s=raw
= 4 98 Ivad A 6 wgdm
st dfeerm &1 afr am R 2
(1) ESH g F9m T T, 1965
(2) TH.UH.UH. I 3 HT T, 1959
(3) TH.TH. 99137 9919 YRa 99, [99]
(4) 4. H.IR. 1@ W w3
meft, 1971
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(3) wfee, wer, dep, fagm

(4) wfged, fasm, e, wurer dan

WA % G99 & Hgese 145(3) &
AT IR o HiaY % frdea % ar
faftr =1 *E wwam s 2,
3uhl fafHwem w13 F faw S 9
=T Y =aw g fea B 7
() 3 (2) 5

(3) 7 4) 9
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Which of the following are the
functions of the Cabinet Committee on
Security ?

(A) To deal with all defence related
1SSUES.

To deal with issues relating to law
and order and internal security.

To deal with policy matters
concerning foreign affairs that
have internal or external security
implications  including  cases
relating to agreements with other
countries on security related issues.

(B)
(©)

(D) To deal with economic and
political issues impinging on

national security.
Correct Answer is :
(1) (A)and (B)
(2) (A), (B)and (C)
(3) (B).(C)and (D)
(4) (A), (B).(C) and (D)

Inwhich of the following case,
Supreme Court of India pointed out that
‘the Privileges of Parliament are part
and parcel of the Constitution’ ?

(I) Sajjan  Singh Vs. State of
Rajasthan. 1965
(2) M.S\M. Sharma Vs. Krishna

Sinha, 1959

S.S. Dhanoa Vs. Union of India, 1991
UN.R. Rao Vs. Mrs. Indira
Gandhi, 1971

Find the correct group which contains
the special knowledge of the nominated

members of the Rajya Sabha as

mentioned in the Constitution :

(1) Literature,  Culture,  Science,
Commerce

(2) Art. Literature. Social Service,
Science

(3) Literature, Art. Culture, Science

(4)

Literature. Science, Art. Social Service

. What shall be the minimum number of

Judges. who are to sit for the purpose
of deciding any case involving a
subtantial question of law as to the
interpretation of the Constitution of
India. under Article-145(3) of the
Constitution of India ?

(1) 3 (2) 5

3) 7 (4) 9
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